Precalculus: 4.2 Logarithmic Functions and Their Applications

Questions

1. Sketch the graph of f(r) = —In(=3x) + 4 by transforming g(x) = In(xr). From your sketch, cvaluate lim f(a)
T—oC

and lim  f(r). and state the domain and range of f.
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2. Sketch the graph of f(a) = —In(12+2) — 3 by transforming g(x) = In(x). From your sketch. evaluate lim f(r)
T—roC

and lim  f(r). and state the domain and range of f.
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3. A Bank pays 8% annual interest compounded monthly. How long will a deposit of $5000 amount take to reach
an accumulated amount of $80007

4. What annual interest rate will it take for a deposit to increase by 5% in one vear for an account that compounds
continuously?

5. Solve cach cquation.
(a) logs () = 3.
(h) log,.(16) = 4.

(¢) In <\/i(_> =
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